7H2 5000 ¥,
500 A,

&

221000 94 <&
IZete) 2 vzt ot e

Ct- 7H%

&2 8000 Yol o=
2 o3 S, 21 9] elFelol

H 7

i

olet. o] 2E v

S HEQlA] ALoledat,



=]
JLEE)

50

=]
i,

ALg AzFe] 247} 45
3 At

5
d0]

200
120

13000

17000

-

Ul

3



5500 Qold] 20 & o]Ao]H 20 %
ittt 2 g o]4folH 20 ©H ©A|

34 Tstedet,

g1

Gt



A= 2HAA 3] E 955171 Yl 50km = <
Agols Al 40 km 2 GE|th7t F7ke] Al 30
Takshed] A9 AI7RS 1 A7 30 B8 9717 ¢
= g9 A= gnf o]l A ool

a =R km

5 Tro 2 shgit
km 0= ERth &
=2 o, Al 40 km



10% ©] 225 200g o] S°]
B 71 25% olAto] E k.
Q12| Fatoizt,

B e g



